
STAND WITH LEGS
ESL/EST models (Restaurant/Genesis Series)

18" - 24" - 36" - 48" - 60" - 72"

WARNING
Improper installation, adjustment, alteration, service or maintenance can 

cause property damage, injury or death. Read the installation, operating and 
maintenance instructions thoroughly before installing or servicing this 
equipment.

PLEASE RETAIN THIS MANUAL FOR FUTURE REFERENCE

4726 NW 2nd Avenue, Suite F1      Boca Raton, FL 33431, USA     (1) 954 367 7846

sales@venanciousa.com            www.venanciousa.com

ASSEMBLY INSTRUCTIONS

Rev. 00 - 09/2022

4726 NW 2nd Avenue, Suite F1
Boca Raton, FL 33431, USA.
support@venanciousa.com 

ww.venanciousa.com



Your kit includes:

ESL18, ESL24, ESL36, ESL48:
Parts
Top structure  x1 
Legs               x4
Shelf               x1 

Fasteners
1/4" x 1/2" bolt              x8
3/8” x 1 1/4" bolt         x16
1/2" x 1" bolt                 x4
3/8" x 23mm washer  x16

EST18, EST24, EST36, EST48:
Parts
Top structure  x1 
Legs               x4
Shelf               x1
Table top         x1

Fasteners
1/4" x 1/2" bolt              x8
3/8” x 1 1/4" bolt         x16
3/8" x 23mm washer  x16

ESL60, ESL72:
Parts
Top structure  x1 
Legs               x6
Shelf               x1 

Fasteners
1/4" x 1/2" bolt            x12
3/8” x 1 1/4" bolt         x24
1/2" x 1" bolt                 x4
3/8" x 23mm washer  x24

EST60, EST72:
Parts
Top structure  x1 
Legs               x6
Shelf               x1
Table top         x1

Fasteners
1/4" x 1/2" bolt            x12
3/8” x 1 1/4" bolt         x24
3/8" x 23mm washer  x24

1

Place Top Structure upside 
down on clean flat surface.

2

Place Leg bracket and line up holes. 
Use 3/8" x 1 1/4" bolts and washers 
to secure legs in place. Use a 14mm 
wrench to tighten bolts.

3

Fit legs through shelf holes and 
adjust to desired height.

4

Fix shelf in position by fastening 1/4" x 
1/2" bolts using a 7/16" wrench. 
Tighten all legs in a criss-cross pattern.

5

Turn stand upright and place your 
Venancio appliance on top. Use 1/2" 
x 1" bolts to secure it in place. Rotate 
leg end nuts to level the stand so it is 
sturdy and doesn’t shake during use.

For ESL models only 5

Turn stand upright and install the table 
top. Rotate leg end nuts to level the 
stand so it is sturdy and doesn’t shake 
during use.

For EST models only

Parts layout

Top structure
(ESL models)

Top structure
(EST models)

Leg Shelf Table top
(EST models)

Assembly requires two people.


	Página 1
	Página 2

